ADVANCED ALGEBRA




NAME:  ____________________________

SEMESTER 1 FINAL REVIEW
1.  Which number does 
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2.  Evaluate 
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3.  Solve for x:  
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4.  Solve for x:  
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5.  Solve for y:  
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4x +3y = −2
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6.  If you drive 743 miles and you average 23.2 miles per gallon, how much do you spend on gasoline if it costs $3.59 per gallon?

7.  You are buying new carpet for your bedroom that measures 10 feet long by 12 feet wide.  How much will the new carpet cost if it sells for $5.25 per square foot?

8.  Solve 
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9.  Solve 
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4(x −3) ≥ 2x + 6
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10.  Solve 
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11.  Is
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12.  If 
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g(x) = −5x − 7
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13.  What is the slope of the line that passes through (4, -5) and (1, 3)?

14.  What is the slope of the line
[image: image13.emf]


y = −3x − 4
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15.  What is the y-intercept and the x-intercept of the line 
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y = −3x −18
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16.  What is the equation of the line that passes through the point (-2, 1) and is parallel to the line 
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y = −x − 5
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17.  If y tends to increase as x increases on a scatter plot, what is the correlation of the paired data?
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18.  Write the inequality represented by the graph shown.
19.  Write the function represented by the graph shown.
20.  How many solutions does the following system have?
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4x +8y =12
x + 2y = −3
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21.  Suppose you bought eight oranges and one grapefruit for a total of $4.60.  Later that day, you bought six oranges and three grapefruits for a total of $4.80.  Now you want to find the price of each orange and of each grapefruit.  Let x be the cost per orange, and y be the cost per grapefruit. Write the system of equations to represent this problem.

22.  Write the system of linear inequalities shown in the graph.
23.  There are 6 runners participating in a race.  In how many ways can the runners finish first, second, and third in a race?
24.  Simplify 
[image: image17.emf]


(7x5 − 4x3 − 5)+ (2x5 + x4 −3x − 2)
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25.  Multiply 
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26.  Write a polynomial function in standard form with zeros at 5, -4, 1.  
27.  What is the vertex of the graph of 
[image: image19.emf]
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28.  What is the standard form of the quadratic function 
[image: image20.emf]


y = 2(x +1)2 − 4
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29.  What is the correct factorization of 
[image: image21.emf]


x2 +10x +16
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30.  What is the simplified form of the expression 
[image: image22.emf]
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31.  Solve the equation: 
[image: image23.emf]


3x2 − 4 =17
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32.  Find the product:  (4 + 6i)(2 + i).

33.  Solve the following equation:  
[image: image24.emf]


x2 − 6x + 2 = 0
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34.  What is the value of 
[image: image25.emf]


f (x) = x4 +3x3 − 6x2 −10x +8
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35.  Factor 
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36.  Is
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37.  Suppose 
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38.  Find the ordered pair that is the solution of the following system of linear equations.
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39.   If 
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x2 − 24x + c
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 is a perfect square trinomial, what is the value of “c”?

40.  What is the axis of symmetry of 
[image: image34.emf]
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41. Solve by the quadratic formula:  
[image: image35.emf]


5x2 + 9x − 2 = 0
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42.  Suppose 
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f (x) = 4x − 2
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43.  A bag contains 9 red marbles, 5 white marbles, and 3 blue marbles.  Find P(red or white).

44. Simplify: 
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45.  Simplify:  
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46.  What is the simplified form of 
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47.  Use your preferred form of division to divide
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48.  What is the expression for: 
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49.  Use your preferred form of division to divide
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x4 + 7x3 +15x2 +12x + 9
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50. How can you write 
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